LIQUID SOLIDS CONTROL

MODEL 614 X1 & X2
PROCESS REFRACTOMETER

INSTALLATION GUIDE

LIQUID SOLIDS CONTROL, INC.
P.O.Box 259, Upton, MA. USA 01568 TEL: (508) 529 - 3377



LSC MODEL 326 INTRODUCTION

LSC Model 614

PROCESS REFRACTOMETER

MODEL 614 X1 & MODEL 614 X2

INSTALLATION GUIDE

SEPTEMBER 12, 2012

LIQUID SOLIDS CONTROL, INC.
P.O. Box 259

Upton, MA 01568 U.S.A.

TEL: (508)-529-7773

FAX: (508)-529-6591

Email: usa@liquidsolidscontrol.com

LIQUID SOLIDS CONTROL DIVISION
OF LIQUID SOLIDS CONTROL, INC.
5723 Old West Saanich Road

Victoria, BC VO9E 2H2, Canada

TEL: (250)-474-2243

FAX: (250)-474-3339

Email: canada@liquidsolidscontrol.com

NOTE:

This is a basic guide to install the model 614 process refractometer.
Full instruction manuals can be downloaded @ liquidsolidscontrol.com
If you need any further information please contact us.



2.84

@250 mm>
7.0
A177.8 mm)
S0~ 6.0
2.7 mm 152.4 mm)
44 o ©
1.2 mm
— SC
614 X 1
13.50 11.81
(3429 mm> (300 mm>

6.04
(1334 mm>

150 mmd

——— 591 — | -=-— 123

(318 mm»

NOTES:
1.BASIC DIMENSION ARE IN INCHES

ke

© [/OU/D 5'0[/05 CONTROL, INC.

TOLERENCES
(AS NOTED) +aos 1_‘1/u *1

WG Ay & Juigh

APPROVED BY:

INSTALLATION, MODEL 6‘I 4

REV.B ADDED mm

=stationary
braskets

B

on §

614501




-SOLENOID

ACTUATOR

1/4" NPT BALL VALVE

NOTE:

e 1.) ITEMS #1-3 (LSC P/N 125214, 125830, 640040) ARE INCLUDED IN 725912 KIT
Parts List
ITEM|QTY |PART NUMBER DESCRIPTION
1 | 4 |125214 SCREW, SOCKET HEAD CAP 1/4-20 x 7/8
2 | 4 ]125830 WASHER, HIGH COLLAR 1/4"
3 2 640040 "O" RING
4 1 [829246-2205 |GATE ADAPTOR ISOLATION VALVE
5 4 829233 INSERT, THREADED
6 |1 PIPE WELDEMENT
7 1 PRISM WASH SENSING HEAD

DRAWN

JOSEPH BOISVERT __ |6/15/2009 LIQUID SOLIDS CONTROL, INC.

CHECKED

M. SWEENEY 6/23/2009 |tire

QA

MFG INSTALLATION: GATE AND BALL VALVE

M. SWEENEY 6/23/2009

APPROVED

M. SWEENEY 6/23/2009 57 DWG NO REV

C 614530 NONE

SCALE 1/2 | |SHEET 1 OF 2

| 3 4& 2 | 1



NOTE:
THIS END TO BALL VALVE

NOTE:
THIS END TO CHECK VALVE

* REMOVE NUT BEFORE
MOUNTING TO POST

Parts List
ITEM|QTY|PART NUMBER DESCRIPTION
1 | 2 |125305 SCREW. SKT SET CUP PT 1/4-20 x 1/4
2 2 (125850 NUT, NEX 1/4-20
*REMOVE FROM BALLVALVE BEFORE MOUNTING

3 | 1 [190202 HOSE, FLEXIBLE 12" LG

4 | 1 |190260 CONN, FEMALE 316 SS

5 1 ]190261 CONN, MALE 316 SS

6 | 1 [190302 BALL VALVE W/ SOLENOID

7 | 4 |690101 STUB, POST

8 2 (690408 POST, BALL VALVE 4"

690608 POST, BALL VALVE 6"
690808 POST, BALL VALVE 8"
DRAWN
JOSEPH BOISVERT _ |6/15/2009 LIQUID SOLIDS CONTROL, INC.
CHECKED
M. SWEENEY 6/23/2009 e
QA
MFG INSTALLATION: GATE AND BALL VALVE
M. SWEENEY 6/23/2009
APPROVED
M. SWEENEY 6/23/2009 5z DWG NO REV
c 614530 NONE
SCALE 1/2 | |SHEET 2 OF2

1




INTERNAL VIEW MODEL 614

0O o

I MODEL 614
© [SENSING HEAD| ©

E = )

@ @ ' E )
| REF
CONNECT EARTH % ﬁ&

GROUND TO STUD

t_1emp ouT

I
I /[ I lo[J= o S 1% 420 mouT

oo~

CABLE SUPPLIED BY LSC #160706

t o-10v our
I
o]
=0

0]
[ ]
[]
=
P
B

hooaange

MEAS  INTERCONNECTING |
CABLE

RERJFE

e

Sle|z|N|a[a|=)<
o)

. .

= )
=

19 [ SHELD
WASH NEUT _ PRISM
WASH LINE___WASH

T
|
|
|
|
|
L
|

4-25-02
© LIQUip SOLIDS CONTROL, INC.
[oar Jaww Z

NN N
SRR

AC_NEUT
24 | AC LINE AC INPUT

CABLE SUPPLIED BY LSC #160706

M614 INTERCONNECTING BRD. OUTLINE
REYA-UPGRATED BRD, = 1

YD ddec e M4 I'C | 614600




DISSOLVING TANK

=

/1moomMm LEVEL

STEAM SUPPLY HEADER
TYPICALLY 10-12 BAR
USE THE SAME SUPPLY
AS THE
SHATTER JETS

SOLENOID
STEW |/
TP
'F NEEDED

INTERCONNECTING CABLE: 7
LSC P/N 160708 /

AR SUPPLY

MANUAL ISOLATION
VALVE

(CUSTOMER
SUPPLIED)

GREEN LIQUOR TRANSFER LINE

% FLEX LINE

oo
SQOEEEBEEEEEN,

XX

QD

OOIXXHXHXXXXXX

Q

(5

<X

XX

XX

XX

POOIXXXXXX

1/4 SCH 80 PIPE
1/4 NPT TERMINATION

PROBE WIRING JUNCTION BOX
(SHOWN WITHOUT COVER)

MINI GREEN LIQUOR PROBE

[ ]
FLANGED DEPTH= APPROXIMATELY
STANCHION T MPPROOMK
GREEN LIQUOR
—
PRISM WASH TUBING—] : \
CREEN LIQUOR OUTPUT
SENSING HEAD ASSY. RETURNS TO DISSOLVING
e, VEh99 _ _ TANK OR TRANSFER LINE

(\

SMALL TANK OR PIPE STAND

CAN BE DIRECTLY IN LINE OR

MOUNTED IN A BYPASS LOOP.
(CUSTOMER SUPPLIED)

SEE DRAWING #614615—EXT FOR
WIRING DETAILS

EACH GREEN LIQUOR PROBE
LENGTH IS DESIGNED
SPECIFICALLY FOR THE

CUSTOMERS DISSOLVING TANK.

IF THERE IS NO ROOM TO

INSTALL A PROBE INTO THE TOP
OF THE DISSOLVING TANK, THE
CUSTOMER CAN ELECT TO
INSTALL THEIR OWN SMALL TANK
OR PIPE STAND INTO THE
GREEN LIQUOR TRANSFER LINE.
LSC WILL MANUFACTURE A MINI
GREEN LIQUOR PROBE FOR THIS
TYPE OF INSTALLATION

614615 EXT-MINI




CABLE SUPPLIED BY LSC #160706

(o]

Py
m

a3y

5

© LIQUID SOLIDS CONTROL, INC.

SEE CHART "D" ]
SEE CHART "B" e w TO GROUND STUD
[ IN CABINET O B
ERER|B
) SRS
W N\
_—SEE CHART "A" — 0 0-0~0
el . e il
— |0 Wv —
~ ~
® 8] @ < r\m
pe ] PROBE WIRING JUNCTION BOX
1] N m (SHOWN WITHOUT COVER)
I S1 _H_ POWER SUPPLY
H] RJ 45 m _
J6
&
5 & GREEN LIQUOR PROBE
X XL 3 oo eam J2 m
[
© O
AN Vi
N / J —
. |\ PRISM WASH VALVE W/ ACTUATOR
wowre/ ) B O
SOLENOID
N, " E2] ” ”» ”» ” ”
CHART "A CHART "B CHART °C CHART "D
INTERCONNECTING A P & COMNEGTON FALORE AL
b Bick K A T ETHERNET T A
WHITE onp- INPUT RXE_ CONNECTION [N/O T NORMALLY OPEN |
ot e {iat i  S—
RET _ BIACK HSH NUET — ouT
=

i m ﬂ “ m _”hvmﬁﬁxyWeHwﬁ\Nﬁq. ““
"ECNET, INTERCONNECTING BRD OUTLINE-EXTI297| |)

L 1J

614615-EXT |

ore




115/220 VAC. OPEN

SOLENOID

S @)
0(%%&:

leOs
DISPLAY

()
E——
[\

1

)
@

e

INTERCONNECTING BOARD

i/

TEMP

out

4 -

20 mA OUT

0 -

10V our

Ul [ [ [+

LED

MEAS

TEMP

RET

INTERCONNECTING

REF  CABLE

C "B" ALARM

mm\‘mu:a;:8|wm\lmm+ul\7—‘

SHIELD

[
o

WASH NEUT

PRISM

N
g

WASH LINE

WASH

N
N

N
w

AC NEUT

N
=~

AC LINE

AC INPUT

g

\

@

DT

AR
SUPPLY
STEAM OR WATER
Y

LINE

4/TO 10 INCHES
1/4 " SS TUBING
2 SUGGESTED

CHECK VALVE

1" FTB WITH 150 LB FLANGES

\—T—BOX WIRING DIAGRAM  ytar
(SHOWN WITHOUT COVER)

T?S COLOR ° = °
3 +
2 TBLK [= LED
3 5'< ?EF 1 2 3 4 5 6 °
4 | WHT [MEAS 155
5 | GRN [TEMP LIQUID SOLIDS CONTROL
6 [ BLK [RETURN 5 S 5

@ [/OU/D .S'O[/D.S‘ CONTROL, INC.

05 )

+8g +1/|u +1

N/ A

T _wszm BOISVERT I: 7-28-10

7-28-10

V=614 SENSING HEAD INSTALLATION W/ PW[ter1|

STy |

" 614615-FTB-PW

ReV.
INONE




